6-32 BUTTON HEAD U/C BOLT PATTERN
1/16" PLY OR ALUMINUM //

U/C (LANDING GEAR) —_ ] o
1/4" PLYWOOD PLATE — 7 =5
DETAIL B
FILLER BLOCK — ﬁ
6-32 BLIND NUT
DETAIL A SERVO TRAY TEMPLATE
4-40 BLIND NUT
1/16" PLY OR ALUMINUM SURFACE THROW:
/// i FELEV 197 — 217
U/C (LANDING GEAR) —~ t RUDD oG \
AILRN 107 — 147
4-40 SCREW \\
(OPTIONAL) AL
DETAIL A DRILL DETAIL C
FIREWALL TEMPLATE GUIDE

QM40 POLECAT

Designed by: Size Rev

Dan Kane & Bruce DeChastel C C

Date: Drawn by:

02/25/02 Dan Kane




